Equal 9 step grey scaling betweeb* g;n=—50.0 andL*y,,=50.0, Yoref=1.8, normalisation greyU

L*0anm=49.9,L*02=0.0, L*0aw=50.0, Yoan=3.6. Yoa=18.0, Yoauw=90.0, Coay=Yoaw: Yoan=25.0
L*taN=—40.3,L*tay=0.0, L*tan~47.6, tan=4.9, Ya=18.0, Y;an=83.4,Cray=Ytaw: Ytan=17.0
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 AL* min] / [AL* max], L* TuBLOG,Ua = 50/ Iog(5) [log (Y/Yy) ] with Y,=18

g*%= 100, g’y= 100 0%= 76, g%y= 7 g%= 98, g%5= 94
L*TuBLOG, uantended output real output linearized output
n0.i L*0a L*Or YOa YOr :L*a Al*a L*r Yta (L*tr) V1121 *a Al*la
50*09 500 1.0 900 10 47.6 1.0 834 1.0 47.6
12.2 11.0
8 375 0.875 60.2 0.655 35.4 0.861 56.3 0.875 36.7
; 12.0 11.0
25+ ( 7 250 075 402 0424 234 0.724 38.2 0.75 25.6
3 11.8 11.1
6 125 0625 269 027 115 059 26.1 0.624 14.5
; 11.5 11.0
o*‘s 00 05 180 0.16Y 0.0 0.458 18.0 0.498 35
: 1.1 11.0
@+ -124 0375 120 0098 -11.0 0.332 12.6 0.373 -7.4
: 10.6 10.8
_25*.3 -249 025 8.0 0.05:1 -21.6 0.212 8.9 0.25 -18.2
; 9.8 10.7
@2 374 0125 54 0021 -314 0.101 65 0.129 -29.0
3 8.9 11.3
_50;;.1 -499 00 36 00: -403 0.0 49 0.0 -40.3

. : Yoait Y
*o = = i normalisation: Yigju=Yoay 0" Oref
DL*gF125  (i=1.2,..8) | taiU=Yoau g2 el

iead0-7n



